£H LHRE

1. ROMEIZE AR SV,

(BEREAE)

(1) A= {z|zX16 DIEDKEK }

% A=1{1,2,4,8,16}

(2) A= {r|lziE, 2*+4o+4=0 %= 38}

. A={2}

(3) A={njn X3 THDL 155 1H0HKRH)

s A={1,4,7)

(4) A={z|zT24 DIEDKIEL}

% A={1,2,3,4,6,8,12,24}

(5) A={6n—>5n=2,4,6}

% A={7,19,31}

No.1 DEZE

(6) A, BOHEGORRZ, D+ C+ =TRLRI,
A=1{3,6,9}
B = {3z|z IXBRE}

XK. ACB

(1) A,BOHEEDOEFZEE, D - C - =TKLRI,
A = {10, 20, 30, 40, 50, 60, 70, 80, 90}
B = {5n|n XA %%}

x. ACB

(8) A, BOEADOMBEE, D C+ =TRLARS,
A= {nlniE, —10 <n < 10 Zifi7= 3585}
B={nnix, —10 =n = 10 7= 9% }

%, ACB

(9) A,BOEEOEKRE, D C - =TRLARIV,
A={nlni%. 1H#1OBEKEK}
B={n|niX. —5<n <10 &%= 38K }

. ACB

(10) A, B DHEEDORFEZ, D C - =THRLARIUY,
A=1{1,3,9}
B={nn1X9 DIEDOKE }



£H LHRE

1. ROMEIZE AR SV,

(BEREAE)

(1) A={n|nix5TED L ARD 1HiDHBEK}

. A=1{4,9}
(2) A={z|z*+5x+6=0}
&, A={2,3}

(3) A={nn X 13 THD L 11 2 2H7DHKHE }

% A ={11,24,37,50,63,76,80}

4) A={zlz1F—-5<az=1%ud¥E}

s A={-4,-3,-2,-1,0,1}

(5) A= {z|z %49 DEDOKH }

%. A={1,7,49}

No.2 DRZE

(6) A,BOHEEGDOEMREZ, D C+ =THKLRI,
A= {n|n %8 DIEDOKIAL }
B={1, 2, 4, 8}

%. A=B

(1) A, BOHEAOMFEEZ, D C - =TRLARI,
A ={n|n X 1HIDIEDEIL }
B={nlniX2 4 DEDOKE }

%, ACB

(8) A,BOHELGDEFRE, D - C - =TKLRIV,
A={A.B.C.D.X.Y. Z}
B={A.B.C. 2}

. ADB

(9) A, BOEEDOEKRE, D+ C - =TRLARIV,
A={2, 4, 6, 8}
B ={n|n X2 D5k }

. ACB

(10) A, B OHEEDRFEEZ, D C - =TERLARIUY,
A= {nn ¥ 2 DIEDOKE }
B={1, 2, 4, 8}

%K. ACB



£H LHRE

1. ROMEIZE AR SV,

(BEREAE)

1) A={z|z . 1=2<20 &M= T%%}

% A=1{23,5711,13,17,19}

(2) A={nn T 1HrOFHK}

% A=1{2,3,57}

(3) A= {z|z %24 DIEOKIEL}

% A={1,2,3,4,6,8, 12,24}

(4) A={z]z 1. —2 <z <2 %W}

% A={-1,0,1}

5) A={nniX1HroAREK}

% A=1{1,2,3,4,5,6,7,8,9}

No.3 DRZE

(6) A,BOEADREKE, D C - =TRLARS,
A= {n|n 1T 1HTOEDMEE }
B={nnlx2 4 DIEOKE }

%K. ACB

(7) A, BOEGOBFEE, D C - =TRLARSL,
A = {n|n FERERRORIFOL T }
B = {nln IEM{E R OB T ORIFO4 i }

%. ADB

(8) A,BOHELGDEFRE, D - C - =TKLRIV,
A={nniT1 2 DIEDK% )
B = {n|n %6 OIEOK%k }

%. ADB

(9) A, BOHEGORREZ, D+ C+ =TRLARI,
A = {10, 20, 30, 40, 50, 60, 70, 80, 90}
B = {bnn 1TB KK}

. ACB

(10) A, B DHEEDORFEEZ, D C - =THRLARIUY,
A= {n|n %8 DIEDKEL }
B={1, 2, 4, 8}



SacwmE (ERLaEs®)

1. ROMEIZE AR SV,

No.4 DRZE

(6) A, BOEGOBEKREZ, O C - =TRLMREW,

1) A={z|z X, -3 =z <3 &35}

% A={-3,-2,-1,0,1,2}

(2) A={nn X3 THD L 25D 1HTOBERE }

% A=1{2,5,8}

B) A={2n—1nix. —1=n =2 ZH 3L}

% A={-3-1,1,3}

4) A={nniZ1HroA%KEK}

% A={1,2,34,5,6,7,8,9}

(5) A={nn X3 THD L 1R IHTOBERE }

%A= {1,4,7)

A=1{3,6,9}
B = {3z|z IXBRE}

XK. ACB

(1) A, BOHEAOMFEEZ, D C - =TRLARE,
A={nln XBREK}
B ={2n|n XA %%}

%, ADB

(8) A, BOEADMBEE, D C =TRLARS,
A={nnix. 1HOBKREK}
B={n|niZ. —5<n <10 &/ 9L }

%, ACB

(9) A,BOEEDOEKRE, DO+ C - =TRLARIV,
A={2, 4, 6, 8}
B ={n|n X2 D5k }

. ACB

(10) A, B DHEEDRFEZ, D C - =THRLARIUY,
A= {n|n %8 DIEDKEL }
B={1, 2, 4, 8}



£H LHRE

1. ROMEIZE AR SV,

(BEREAE)

(1) A={z|lziE, 2?2 —x—6 =0 &/~ TEK )}

s A={-23)

(2) A={nn X 2H#DOIED 1 9 DfEE }

%, A ={19,38,57,76,95}

(3) A={nln1315THDLARD 1HOHKRH )

s A={4,9)

(4) A= {z|zI24 DIEDKIEL}

% A=1{1,2,3,4,6,8,12,24}

(5) A= {z|z %49 DEDKH }

% A={1,7,49}

No.5 DRZE

(6) A, BOHEGORRZ, D+ C+ =TRLRI,
A={nnix1 2 DIEDOKE }
B = {n|n X6 OEDKE }

XK. ADB

(1) A, BOHEGORBRE, D C - =TRLRI,
A={nlni%, —10 <n < 10 7= 358K }
B={nlnix, —10 =n = 10 &= 3% }

%, ACB

(8) A, BOEADOMBEE, D C+ =TRLARS,
A= {nln X 1HTOHEK
B={2n+1ni%. 1 =n = 3 Zili- 354}

%. ADB

(9) A, BOEEDOEFRE, D C - =TRLARIV,
A={1, 3,5, 7, 9}
B={nlniX1 7204}

%. A=B

(10) A,B DEAGDORFEEZ, D - C - =TERLARIVY,
A={nni%10 15 20 ETOHEL }
B ={10. 11, 12, 13, 15, 17, 19}

XK. ACB



